= AH O
N = 0 &8 AF S & Al A
201MEE 204 B3 =sX33 ~ sA33 Y
M S22
H: MEIXR 4
Rl = XAAY (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
=X32 11,704,968 11,463,311 241,657
= 2,429,649
z 419,413
< 2,487,253
= 6,368,653
MEIE 84 3,378,864 3,818,234 439,370
= 1,299,791
= 419,413
< 381,896
iy 1,277,764
= ZAAY 254,106 128,752 125,354
= 143,681
< 33,125
= 77,300
TEAS 254,106 128,752 125,354
= 143,681
== 33,125
= 77,300
401 Al&HIZL =20 246,496 121,141 125,355
=2 137,762
< 32,618
= 76,116
01 Al&H| 243,488 104,398 139,090
OXEAIH 243,488
OZ M £=x2!(80ha) 161,127
= 102,578
< 17,563
= 40,986
o222 X2 ALY (10ha) 75,344
= 28,167
o= 14,153
= 33,024
O&H &< (30ha) 7,017
= 4,912
< 631
= 1,474
02 Ze2ldl 3,008 14,143 A11,135
XA 22l 29 (30ha) 3,008
= 2,105
< 271
= 632
402 BIHXHEOIA 7,610 7,611 Al
= 5,919
< 507
= 1,184
02 OI2HCHEH AL HI 7,610 7,611 Al
OSE&EX X2 (3ha) 7,610
= 5,919




fA: =X
Akl

B MRANE 84
@l = ZHAY (ctel: &
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 e HIRZE2
& 507
i 1,184
=JtRJ| 2,162,747 2,949,812 AT787,065
= 979, 166
& 217,406
i 966,175
MHS A0S IIALY 431,000 851,000 2420,000
203 HRF&H| 1,000 1,000 0
03 AIMFRAHLRF 1,000 1,000 0
OMEB A 1,000
401 AIEHIZ 2 30,000 50,000 220,000
01 Al&H| 30,000 50,000 220,000
(©OFSUNE=W:]=] 30,000
OMgetd= 30,000
403 XXM S K0 400,000 800,000 2400,000
02 2J12S0lcHst 400,000 800,000 A400,000
OMHEH =0t 400,000
MEHBEAE 12,800 30,680 217,880
= 6,400
& 1,920
= 4,480
402 I KHE01H 12,800 30,680 A 17,880
= 6,400
= 1,920
= 4,480
02 SIZtCHE A BI 12,800 30,680 A 17,880
ougaEHH= 12,800
= 6,400
= 1,920
= 4,480
= JtRIIAY 1,421,332 1,429,925 A 8,593
= 791,317
& 180,636
i 449,379
101 2144l 17,168 0 17,168
= 10,112
& 2,022
= 5,034
04 JIHMIZ 2 XS 17,168 0 17,168
(OFN=PNE=EAYN; 17,168
= 10,112
& 2,022
= 5,034
401 A &EHIYL 2048 1,404,164 1,429,925 225,761
= 781,205
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178,614
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OZXEZ Xl At=2tel(400ha)

o

02 Zcldl
©=2t32| Zeldl(1,000ha)

03 AI&=20HYI
O=It31J| A& 2]
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W

H H MW

H

,351, 164
, 190,608

662,327
150,877
377,404

160,556

89,198
21,407
49,951

50,000
50,000
28,000

6,000
16,000

3,000
3,000

1,680
330
990

1,386,925

40,000

3,000

A35,761

10,000

H W

297,615
181,449
34,850
81,316

319,860

N22,245

101 Q1A H]

A

266,926
160, 156
32,031
74,739

266,927

A1

04 JIZtHZE2RSE
A

H

266,926
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160, 156
32,031
74,739

266,927

A

301 LetEd=
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7,200
7,200
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401 AIEHIZ R0
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N22,244

03 A2 R04Hl
O EHHIOI20HA
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ta}
o
00

i

H

23,489
23,489
14,093

45,733

N22,244
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26,054
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1,563
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.S (2AH) - MBAY - BES o

[
2
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R
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0l%
IS

W

300

=
o —
b
Jn
=
iK%

23,796 14,334 9,462
14,295
2,851
6,650

H

LR 2 23,796 14,334 9,462
14,295
2,851
6,650

M

402 QI2HRHE01M 23,796 14,334 9,462
14,295
2,851
6,650

MW

28X 10,000 4,000 6,000
DX 2 (5km) 10,000
5,000

1,500
3,500
AL HI 13,796 10,334 3,462
ogLRL-g=22el(10ha) 5,168
2,584
775
1,809
O U E 22 (34ha) 8,628
6,711
576
1,341

H W

MW

A

MBS ASKEH 98,808 42,150 56,658
40,000

11,600
47,208

A

UMSASKE 68,450 3,120 65,330
36,000
10,000
22,450
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201
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70,0003 «5H #2383 700

UL

0>
10
ton
o
Jx
UL

4

o

206

>
=

3,000 0 3,000

C | O

01

>
==

3,000 0 3,000
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z M

©
r
>

=)

r

307

o
=}
=

8,750 0 8,750
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8,750 0 8,750
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M sAS3
S METE 24
S AMSASTA (&9 HM
_ _ _ AT
2N -3 - c2(3H) - NEME - HES Ol &F2H ‘Oﬂ/i\_Fo” Hns
OBEINEZ XA (35,0002)
35,0002 * 10072 *5& *50% 8,750
402 QI2tXI=0lH 56,000 2,420 53,580
= 36,000
= 10,000
= 10,000
01 2I2AXEEX 56,000 2,420 53,580
OBEDHA THHHAIAE (101 A) 8,000
= 4,000
= 2,000
= 2,000
OYME(FHUS)MMHAXZHE(1IMA) 48,000
= 32,000
< 8,000
= 8,000
UAMERSKA 8,000 38,000 A30,000
= 4,000
< 1,600
= 2,400
307 QI2t0| A 4,000 6,000 A2,000
= 2,000
= 1,000
= 1,000
02 DIZtEAEX 4,000 6,000 A2,000
OUUZS(FUE) EZ=S=oIXNH(10HA) 4,000
= 2,000
= 1,000
= 1,000
402 SI2tXIE0| A 4,000 32,000 A 28,000
= 2,000
= 600
= 1,400
01 QIAX2EX 4,000 32,000 A 28,000
oY= HE L HIZAIA 4,000
OLMSHEAIE(1IHA) 4,000
= 2,000
= 600
= 1,400
UASH KX X2 5,508 0 5,508
301 et A= 5,508 0 5,508
10 At HIEAS 5,508 0 5,508
OX T LULSAHX NFEA B4
212,000 x9H 1,908
HEEAN B4
0,000& *35| x24H 3,600
4= 3,150 0 3,150
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Cal 13,700 0 13,700

402 It H=01H 13,700 0 13,700

22X 13,700 0 13,700
| XI& 1,540,000& = 10CH +50% 7,700

b HEAH XI&
24,0002 502 * 10ha*50% 6,000

>
=

z

Y

SMHoIEX A 80,650 53,200 27,450
37,290
4,770
38,590

W

b Uy DR 80,650 53,200 27,450
37,290
4,770
38,590

MW

402 22t =01 80,650 53,200 27,450
37,290
4,770
38,590

M

01 2ItXEEx 80,650 53,200 27,450
S (FH8) 2=(250) 64,750
27,750
4,070
32,930
owaEd (MHE) E=(30) 15,900
9,540
700
5,660

AW

MW

AEAIE 599,160 495,091 104,069
419,413
89,873
89,874

M HY OR

LEAE 599,160 495,091 104,069
419,413
89,873
89,874

M HY o8

101 1A H] 13,856 0 13,856
9,873
2,131
1,852

M HY O]

04 JIZtHZ2HSE= 13,856 0 13,856
o=zl MY (2Y) 13,856
9,873

O
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301 LEt2a=s 800 0 800
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401 AIEHIZ 20 583,560 495,091 88,469
408,493
87,533
87,534

M HY OR

01 A&l

580,560
580,560
403,042

495,091

85,469

281,830
60,606
60,606

O X4 (2.0km) 132,518

92,763

19,877

19,878

O &£ ==(10.0km) 45,000

31,500
6,750
6,750

03 A2 204HI 3,000 0 3,000

oy a4 2oyl 3,000
2,400
300
300

HHY o8

M H O]

M HY 08

M HY o8

LHIAEHE=S 104,000 16,950 87,050
52,000

15,600
36,400
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e
R

JI A&
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w

104,000 16,950 87,050




S HE e
E: AT S
el el

HEHIES (el &)
_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
= 52,000
= 15,600
= 36,400
405 XtotE SHI 104,000 16,000 88,000
= 52,000
= 15,600
= 36,400
01 ML ESF=H 104,000 16,000 88,000
OAEAH OIS AXI(20H) 20,000
= 10,000
S 3,000
= 7,000
OAE X (30H) 24,000
= 12,000
= 3,600
= 8,400
OSEHMZ=II(1TH) 60,000
= 30,000
= 9,000
= 21,000
MEFLESH & MEAHES 8,256,732 7,577,215 679,517
= 1,129,858
= 2,105,357
= 5,021,517
FEZE=NUERIARS 2,915,327 2,511,019 404,308
= 25,000
= 1,468,700
= 1,421,627
SEZDE SN & XSS 22,447 20,002 2,445
101 el 24| 14,253 14,042 211
04 JIZHHZ2XHSE= 14,253 14,042 211
OSEIES L +=IAZ22 (60 2) 14,253
OEso= 68,9602 x62 33| «5H 6,207
O X2 44,7003 x62 32/ * 10 8,046
201 LEH2HH| 8,194 3,960 4,234
01 AtR22iHl 4,234 0 4,234
OBEZESM(ZEXF) EXMNER
3,650,000& *116% 4,234
02 2323l 3,960 3,960 0
OSERESH MRS (4.3 . 98H)
60,0003 3 %123 2,160
OZEREXE=E HJIR=
40,000& *3M A+ 123 1,440
Odecl HERAZE HIIe=s
30,000 * 10 2+ 123 360
=22 ZEXH 45,000 130,000 A 85,000

_10_




SN SN2
HE: MUBYSSBE L MHHEBH
o9 REYL=IUEYIRE (25l &2
_ — N e
SA-BH.C(BH) - HRAY - B Off &F 04 il i~ o Rz
401 AEHI LS 45,000 120,000 A75,000
01 Al&l 45,000 120,000 A75,000
OBSIEH &XI(2HA) 15,000,0002 *33] 45,000
L= 346,580 380,017 133,437
101 121l 333,780 365,017 ~31,287
04 JARZERSES 333,780 365,017 A31,237
O=XFHIS 2 (13%) 297, 114
oiuty 105, 7802 %272 % 108 1 28,561
Omgole 85, 14021 x272 102 %102 229,878
ozsox 71,6202 %272« 102 2% 38,675
OAZERE2 U 2YI 36,666
O=pleiz 297, 112,0002 4. 50% 13,371
oRYRE2 297,112,000 +2. 665% 7,919
OUTHEE 2 297,112,0002!%3. 70% 10,994
ong=sz 297,112,0002! *1.30% 3,863
O‘IIQULEE 7,918,0002!+6. 5% 519
201 Yereot| 4,800 5,000 A200
02 BB 4,800 5,000 £200
CETIEE] 1,60021%3,000 £ 4,800
206 M2 bl 8,000 10,000 A2,000
01 T2l 8,000 10,000 A2,000
OZHITL(HIINS, DRI, SS) 8,000
MEFH=SUAS 2R 104,000 291,000 ~187,000
= 21,900
2 82, 100
101 Q1248 30,000 100,000 A70,000
04 JARZRIIS LS 30,000 100,000 A70,000
OS - o MBEE=3IX AR 22l (1920H4) 30,000
203 YR =X 1,000 1,000 0
03 AIBZ=RHREAY| 1,000 1,000 0
O=XZY Y=Y 1,000
401 AEHILS U] 73,000 180,000 ~107,000
= 21,900
2 51,100
01 Al&t| 73,000 180,000 £107,000
OMEZBI=5T ALS202](10H4) 73,000
= 21,900
= 51,100
CAEHE S 20,000 0 20,000
207 STl 20,000 0 20,000
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SN SN2
o NEEALSIEH L MYHRH
ool ZRAL=NUEAITE (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES arey e HRE2
01 eipE eyl 20,000 0 20,000
OZAEY 20,000
cyERERTE 913,300 300,000 613,300
= 282,300
2 631,000
401 NEHI2E 913,300 300,000 613,300
= 282,300
= 631,000
01 Al& ] 913,300 300,000 613,300
GNP Tk x4 913,300
= 282,300
2 631,000
SN DR SR 69,000 85,000 16,000
= 27,000
2 42,000
401 AIZHIL 2O 69,000 80,000 ~11,000
= 27,000
2 42,000
01 Al&t] 69,000 80,000 A11,000
O A XI3 21 (27 2) 69,000
= 27,000
2 42,000
ARBEOIHOIA( 130,000 150,000 20,000
= 130,000
401 AIEHIL2CH] 130,000 150,000 220,000
= 130,000
01 Al 130,000 150,000 £20,000
0ns8E & 50,000
= 50,000
Ot aret 50,000
= 50,000
ostu o 30,000
= 30,000
IR BBEBAY 160,000 50,000 110,000
401 AIZHIL 2O 160,000 50,000 110,000
01 Al 160,000 50,000 110,000
CETIEN A 2T UsH IR
HIOH1 2l 50,000
CERESE: |2 51 EHE & (3.2Kkn
50,000
OBt E-S 42 EERESSIQP/PN
) 60,000
2 14-335 468 O} = 50,000 100,000 A50,000
401 N&HI2S 50,000 100,000 A50,000
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SN =XZR
HH: MNUSASSEA Y MEHSH
Gel: ZEAY=IUERIRS (&te @2
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
01 Al&H] 50,000 100,000 250,000
O=2Z 145 HH AT 2R 20/ A
Shs 300=2) 100, 000 «300= 30,000
OJt24 AHMAET 2 FI=Z=2(30kn) 20,000
HEQgs =2 50,000 0 50,000
= 25,000
[= 7,500
= 17,500
401 Al&HIL 0] 50,000 0 50,000
= 25,000
[= 7,500
= 17,500
01 Al&H] 50,000 0 50,000
OSoHY AH0ISE SRAAL(1HA) 50,000
= 25,000
[= 7,500
= 17,500
P2ESAXRS 5,000 0 5,000
401 Al&HIL 0] 5,000 0 5,000
01 Al&H] 5,000 0 5,000
OR =23 At=2el 1,000=2%5,0002 5,000
E2=TZAXAAY 1,000,000 0 1,000,000
[= 1,000,000
401 Al&HI LY 1,000,000 0 1,000,000
[= 1,000,000
01 Al&H] 997,500 0 997,500
ONtY A MEIDAXMALS 997,500,000 * 14! 997,500
[= 997,500
03 Al&=20HHI 2,500 0 2,500
ODIAA MBIDAXAAIY LY 2,500
< 2,500
A 22l 18,000 1,128 16,872
= 5,400
[= 3,780
= 8,820
ARITI2IHE AlAE = 18,000 0 18,000
= 5,400
[= 3,780
= 8,820
405 KHAHE S 18,000 0 18,000
= 5,400
[= 3,780
= 8,820
01 ML SEFSH| 18,000 0 18,000
Ol X2IRE 29 (GPS 1CH) 18,000




SN =XZHED
HH: NUSUYRABT L MEHHRH
SHol: AXI22 EEREED
_ _ MNuE o
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRE2
= 5,400
= 3,780
i 8,820
SME TR EE2e 465,744 612,529 N 146,785
= 28,641
& 25,130
i 411,973
A= ALY 220,000 205,000 15,000
401 A &HIL 204 220,000 205,000 15,000
01 Al&tt] 220,000 205,000 15,000
OZN=FHIMY 20,000,000 * 1090 & 200,000
OXTSHUIALT AZ 22l
2,000, 0002 * 1074 4 20,000
Es+FHIAE 53,273 54,610 ~1,337
& 8,376
i 44,897
401 AlEHIL 201 53,273 54,610 A 1,337
= 8,376
2 44,897
01 Al&HI 53,273 54,610 A 1,337
OEs4 FHUIAIG (112) 46,873
= 8,376
= 38,497
OE&s= etuE & (8:2) 800,000 *8IH A 6,400
S&2 - a2 184,471 342,919 A 158,448
2 28,641
= 16,754
= 139,076
101 14| 9,000 9,000 0
04 JIZtHIZ2E2HEE > 9,000 9,000 0
OSMZ RMERY 60,0002 5L *32*107H A 9,000
401 A &HIL 204 175,471 333,919 N 158,448
= 28,641
& 16,754
= 130,076
01 Al&H| 175,471 333,919 N 158,448
OB NHIA SAZZ4 (3n) 95,471
= 28,641
= 16,754
= 50,076
OSHZ HUIAL 80,000
OHFN SH2 =XHE XY 80,000
AR AFE 2RI ALY 8,000 10,000 A2,000
401 AlEHIZ ST 8,000 10,000 A2,000
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401 AlEHIL 2RI 50,000 50,000 0

01 Al&H 50,000 50,000 0
OMYALXIEX 24 10,000, 00021 *57H £ 50,000

za el 1,328,709 1,451,889 A 123,180
= 347,499
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101 Q14| 94,662 94,662 0
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O+=SXI=e(8.6ha) 70,0008 52502 17,500
OJIZHM22 X Tl=H| 100, 0008 4% 400
OLABH FFA el 13,762
OLIE S 35,0002 * 1243002 10,500
OFg+Y 35,0002 x50 1,820
onszREE 1,442
—=0i013 12,320,000 *4.50% 555
—ALTHE 12,320,00021 2. 385% 294
—MHEEE 12,320,00021 *3.5% 432
= 12,320,0002! *1.30% 161

201 Lete gyl 40,456 32,026 8,430

01 At 2l 7,486 5,686 1,800
CEIETES=¥] 7,486
O3H& X7 80,0002 *30H 4 122 2,880
OBIINZRITY 20,0008 «20H*30H 4128 1,440
OYs 7L 20,0002 <201 «30H £+ 12 1,440
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O}*2S I 80, 00021 #1317H %037 3, 144
S04 +altl 300, 00024 #40H £ 1,200
OB A 22472 350, 00024 *30H £ 1,050
OZAIZH 20IS0AE BA+42
1,000, 00024 %374 2 3,000
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